’

RS : ESERIRIRIE NBIRTNEEERRIRIE (1)) ~ (NiEF2) |

T
SEB3L Q 5-0 X5@3l,
R
—l
1 il - [ ST
o S §Y\2
<| B 3 > < =
| & &
A/
B
f=—>>
Ln w
ZAR g2 RIR | RAEGE | RITHR BRER | EXETEH | #O | KERY
IRIBATEELSE S B | BER |MREE) sm | ___8x 5x
d / D d X HEETE | RRETE RSRE £
. d. ' SIEL C, Cp | ™ D
RNFTL 1003A3.5 10 3 2.381 10.65 8.1 3.5x1 3780 | 6730 |0.10 20
RNFTL 1006A2.5S 10 6 2.381 10.65 8.1 2.5x1 2830 | 4810 |0.10 20
RNFTL 1208A2.5S 12 8 2.778 12.65 9.6 2.5x1 3730 | 6560 |0.10 25
RNFTL 1404A3.5S 14 4 2.778 14.5 11.5 3.5x1 5370 | 10800 |0.10 25
RNFTL 1405A2.5S 14 © 3.175 14.5 11.0 2.5x1 5260 | 9720 |0.10 30
* RNFTL 1610A2.5
RNFTL 1610A2.5S 16 10 3.175 16.75 13.3 2.5x1 5660 | 11500 |0.10 30
* RNFTL 1808A3.5
RNFTL 1808A3.5S 18 8 4.762 18.5 13.6 3.5x1 |[13200 | 25800 |0.15 34
* RNFTL 2005A2.5
RNFTL 2005A2.5S 20 5 3.175 20.5 17.0 2.5x1 6360 | 14200 |0.10 40
* RNFTL 2010A2.5
RNFTL 2010A2.5S 20 10 4.762 21.25 16.2 2.5x1 [10900 | 21800 |0.15 40
* RNFTL 2505A5
RNFTL 2505A5S 25 5 3.175 25.5 22.0 2.5%x2 |12800 | 36300 |0.10 42
*
gl e R 2.5x1 17500 | 35200 44
RNFTL 2510A2.5S
25 10 6.35 26 19.0 0.20
R 2.5x2 |31800| 70300 44
RNFTL 2510A5S |

fiEE 1 AN RSP RIBU ~ VIRSHRE » (EREZEE AN R 2 8 -
2. SRR 2 R AR xiJLlIJ:)ﬂ ZLs TR 2 o
3. PR ARG o DRI EMAERIE P  fB A B A SHERCT AN © [ dOER Ll Bz Ry R T
B GE s L\ﬁLﬂ‘éu[éu » BUR TRARHBZ5E -
EEHEAE 14mm U » & RS IE A E 8BS E 16mmBL IRy - R B -

B257



=1
| IRIBRRAERNFTL NSK |
7 i' m
5| 3| - - - | - \ T
2 < || NN
& 1
Ls
B © mm
IRIBRY RIE | e ] @ﬁg)
EEE | 2R| =EslL SEH3L (hEEER g NE(nE| EtmisnEes @Zﬂ £
Ala|BlL |w]|x Q T|ulVv ] R|ky]| d] a L, AR | (ko)
40 |15 | 6 |34 |30 |45 |[M3x0.5 |3.0 |15 | 15 | 7 |0.092| 8.1| 6.1|400 | 800 RS1003A ** | 0.50
40 |15 |6 |36 |30 |45 M3x0.5 |35 |15 | 15 5 ]0.095| 8.1 6.1 400 | 800 RS1006A **|0.56
45 |19 | 8 |46 |35 |45 |[M3x05 |55 |19 | 18 7 10.18 9.6/ 7.6 400 | 800 RS1208A #*|0.74
50 |19 |10 |43 |40 |45 | M6Xx1 |50 |19 | 20 7 10.20 |11.5] 9.5|500 |1000 RS1404A **]1.02
50 |22 |10 |45 |40 |45 | M6Xx1 [5.0 |22 | 21 8 [(0.26 |11.0| 9.0 | 500 | 1000 RS1405A **|1.00
53 |23 [10 |54 |41 |55 | M6x1 |55 |23 |225 8 [0.28 [13.3[11.3 | 500 {1000 | 1500 |RS1610A **|1.37
63 |27 [12 |58 |49 |6.6 | Mex1 |6.0 |27 | 27 | 14 |0.43 [13.6/11.6 | 500 | 1000 | 1500|RS1808A ** | 1.60
60 |28 |10 |46 |50 |45 | M6x1 |5.0 |28 | 27 10 |0.42 |17.0(14.6 | 500 | 1000 | 2000 |RS2005A ** |2.17
67 |30 [12 |59 |53 6.6 | M6x1 |6.0 |30 | 29 | 12 |0.55 |16.2/13.8 | 500 |1000 [ 2000|RS2010A **|2.18
71128 |12 |66 |57 |[6.6 | M6X1 |6.0 |28 | 31 10 [0.62 |22.0|19.6 [1000|2000 | 2500 |RS2505A ** | 3.47
80 |34 [15 |62 |62 |9 | Mex1 |75 |34 |37 | 17
0.75 |19.0[16.6 |1000|2000 | 2500 [RS2510A ** |3.13
80 |34 |15 |92 |62 |9 | M6x1 |75 |34 |37 |17
(it - 4. RN - 45 FATR UL RO TE (Bl L 2 BR0ERH 2L Sl FIRE A o -

5. SRR AR LR bz > (RIS HERRATENR LB LL100mm R FT 153 H 2 {H -
6. F{FAL I A EIT RE R  MRIE% P EOR » n] T R RE A e e T R TR L -
TxC BRES AT A A AR

7.

B258



